Company	MRGV	Name of contractor	V. AN	NAND	SI. No. site b	nills reg	358	
Project/site	BRGV	Nature of work		PENTER	Dt. site bills		04/07/24	
Block no.	A	Work done from date			M-codex bil		04107124	
WO no.	NA	Work done to date			WO issued?		NO	
WO date	NA	Contractor bill no.		0000000	GST bill req		NO	
Sl. No.	Unit/floor no	Details of work		Qty	Units	Rate ID	Rate	Amount
1	208.308.408.508	Door Shutter and Hardware fixing (with	h	4.000	Nos	CP140	500.00	2,000.00
2		Door Shutter and Hardware fixing (with Tubular Locks)	h	24.000	Nos	CP141	425.00	10,200.00
3		Teak wood beading fixing charges for a	main	4.000	Nos	CP143	125.00	500.00
4		Teak wood beading fixing charges for doors.	Teak wood beading fixing charges for other		Nos	CP144	85.00	2,040.00
5	Part 3 electrical shaft Head room and	Door Shutter and Hardware fixing (with	Door Shutter and Hardware fixing (with 36.000 N		Nos	CP141	425.00	15,300.00
6		Teak wood beading fixing charges for o	other	36.000	Nos	CP144	85.00	3,060.00
7								
8								
9								
10								
					l		Total	33,100.00
						Add GST @	0.00%	0.00
				Tota	l amount in	cluding taxes fo	or work done	33,100.00
Remarks:	Teak wood beading fixing charges for	other doors.						
	ARRIGHED BY	Approved by QS team			Approved by	Director/E&D	team	
Sign:	MILL SURVIV	Sign:			Sign:			
- - - - - - - - - -	~~U 1 JUL 2024	Date:			Date:			
Notes: 1. This she	replaces installation report and advice for credit to	contractors. 2. This word form must be typed. 3. Use this form	even if w	ork order is not issued. 4. Attac	ch measurement a	nd estimate sheets or	ily if required i.e., de	tails cannot be

Notes: 1. This sheet replace installating report and advice for credit to contractors. 2. This word form must be typed. 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if required i.e., details cannot be entered above. 5. For bill strength of the billion o

ESTIMATE SHEET					Approvediby	
Company Name:	MRGV				Approvoding	
Project :	BRGV				-	
Work Description :	CARPENTER				-	
Prepared By:	SARWAR				-	
Contractor Name:	V. ANAND				-	
Date:	04-07-2024				D-4-	Amount
S NO.	Item Head	Item Description	Quantity	Units	Rate	Amount
						0.000
1	208.308.408.508	Door Shutter and Hardware fixing (with Mortise locks)	4	No's	500	2,000
· · · · · · · · · · · · · · · · · · ·		Door Shutter and Hardware fixing (with Tubular Locks)	24	No's	425	10,200
		Teak wood beading fixing charges for main door.	4	No's	125	500
		Teak wood beading fixing charges for other doors.	24	No's	85	2,040
	Part 3 electrical shaft Head room	Door Shutter and Hardware fixing (with Tubular Locks)	36	No's	425	15,300
2	and electrical room					
		Teak wood beading fixing charges for other doors.	36	No's	85	3,060
					Total	33,100

MEASUREMENT S	HEET			T	1		I	T	
Company Name:	MRGV	A C TOTAL CO. TO THE CONTROL OF T				-	Approved by	<u> </u>	1
Project :	BRGV		are the second of the second o			-	LXP12-127		
Work Description:	CARPENTER			-	-		1	1	
Prepared By:	SARWAR		71. 10						
Contractor Name:	V.Anand	1 Marie Services - Services - Services - Services - Error or Anna Service - Services - S		T					
Date:	04-07-2024	Committee of the commit					1		
		The state of the s	A	В	С	D	E=AXBXCXD	F	G=Sum of E
S.No	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	Total Head
		The second secon						1	
1	208.308.408.508	Door Shutter and Hardware fixing (with Mortise locks)	4	1	1	1	4	no's	
		Door Shutter and Hardware fixing (with Tubular Locks)	4	1	1	6	24	no's	
		Teak wood beading fixing charges for main door.	4	1	1	1	4	no's	
		Teak wood beading fixing charges for other doors.	4	1	1	6	24	no's	
Takashinggappe das sa systempanasa, para-mandasan dissorbitan di describitan di				1					
September 1 - 1								İ	
2	Part 3 electrical shaft Head room	Door Shutter and Hardware fixing (with Tubular Locks)	1	1	1	37	37	no's	
de la company de	and electrical room								
		Teak wood beading fixing charges for other doors.	1	. 1	1	37	37	no's	
			1	1			-		1

Allowance For Consumables V.Anand MUHARPALLY Hyderabad

Date 04-07-2024

In favor of:	MRGV
Project/Site:	BRGV

Location: YANAKA PALLY

Type of Work: CARPENTER

Towards: Allowance For Consumables

S.No.		Discription	Amount
1	Breif discription of work	done: Towards fixing of door shutters	6,620.00
	Total amount:	33,100.00	

Amount in Word: Six thousand six hundred twenty rupees only/-

Sign:			
_		 	

Labour Charges V.Anand MUHARPALLY Hyderabad

Date 04-07-2024

Project/Site:	BRGV
Location:	MUHARPALLY
Type of Work:	CARPENTER

Towards: Labour Charges

in favor of : MRGV

S.No.	Discript	ion	Amount
1	Breif discription of work done: Towa	ards fixing of door shutters	
			13,240.00
			13,240.00
	Total amount: 33	,100.00	

Amount in Word: Thirteen thousands two hundred fourty rupees only/-

Sign:

Allowance For Equipment V.Anand MUHARPALLY Hyderabad

Date 04-07-2024

In favor of:	MRGV
Project/Site:	BRGV

Location: MUHARPALLY

Type of Work: CARPENTER

Towards: Allowance For Equipment

S.No.		Discription	Amount
1	Breif discription of work o	lone: Towards fixing of door shutters	
	Total amount:	33,100.00	13,240.00

Amount in Word: Thirteen thousands two hundred fourty rupees only/-

Sign:
